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Conic - Sections

3 - g

Circle :- A circle is the locus of a point which
moves in a plane such that its distance from a fixed
point in the plane is a constant.

The fixed point is called the centre and the
constant distance is called the radius of the circle.

Standard equation of a circle :- Equation of a
circle having centre (h,k) and radius 'a' is

(c-hY: + (kY= .

If centre is at the origin (0,0), then the equation of
the circle with radius 'a' is

2+ y2= @2
When the circle passes through the origin, then
equation of circle is x?+ y?- 2hx - 2ky =0

When the centre lies on x-axis, then equation of
the circle is (x - h)* +)* =ad?

When the centre lies on y-axis, then equation of
the circle is x* + (y-k)* = a@®

When the circle touches x-axis, then equation of
circle is (x-h)* + (y-k)*= |k|? [a=|k]
When the circle touches y-axis, then equation of
circle is (x-h)*+ (y-k)* = |h? [ a=]hl]
When the circle touches both the axes, then
equation of circle is (x ¥ a)> + (y ¥ a)*=a®

The general equation of a circle having centre
(h,k) and radius 'a'isx*+y*+2gx +2fy + ¢ =0,
where g=-h, f= -k and ¢ = h*+k*-a*

The equation x*+)*+2gx+2fy+c = 0 is called the
general equation of a circle with centre (-g,-f) and

radius g’ +7/ —c¢

Let (x,y,) and (x,,y,) be the end points of the
diameter of a circle. Then, equation of circle
drawn on the diameter is

(60,06, (7 ) (9,)=0.

Condition that the line y = mx + ¢ is tangent to the
circle x> + y*=a?is given by ¢ = xa+/1 + m’

PARABOLAS

Main Facts About All Types Of Parabolas

Length
Parabola Focus | Vertex Equation | Equation of
(Equation) of directrix | of axis letus
rectum
(i) y? = 4ax,
a>0 (a,0) | (0,0) | x+a=0 =0 4a
(Right-handed)
(ii) y*= -4ax,
a>0 (-a,0) | (0,0) | x-a=0 =0 4a
(Left-handed)
(iii) x*= 4ay,
a0 (0,@) | (0,0) | y+ta=0 x=0 4a
(Upward)
@iv) x*= -4ay,
a0 (0,-a) | (0,0) | »-a=0 x=0 4a
(Downward)

Main Facts About Horizontal And Vertical Ellipse

Horizontal Ellipse | Vertical Ellipse
Y @ Y
Properties a b 1 ]
0<b<a and 0<b<a and
c=a’-b* c=a*-b?
(i) centre (0,0) (0,0)
(i1) Vertices (£a,0) (0,£a)
(ii1) Foci (£¢,0) or (£ae,0) | (0,xc) or (0,xae)
(iv) Length 20 2
of major axis
(v)Length
of minor 2b 2b
axis
(vi) Equation
of the major y=0 x=0
axis
(vii)Equation
of the minor x=0 y=0

axis




(viii)Length
of the latus 20" 2b"
rectum a @
(ix)Eccentri-
e [d® — b? e a* — b?
citye) |*“a~  a [ a a

Main Facts About Horizontal And Vertical Hyperbola

Properties Horizontal Vertical
Hyperbola Hyperbola
2 2 2 2
(1) Centre (0,0) (0,0)
(i1) Foci (£c,0)or(£ae,0) (0,£c)or(0,xae)
(ii1) Vertices | (£a,0) (0,£a)
(iv) Length of | 2a 2a
transverse
- axis
(v) Length of |2b 2b
conjugate axis
(vi) Equation |y=0 x=0
of
transverse
axis
(vii) Equation | x=0 y=0
of
conjugate axis
(viii)Eccentri- e m e \/m
city(e) CTa a CTa a
(ix)Length of | 22 2h*
latus rectum a a

* qd —
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%ﬁ%{’ﬂaﬁmﬁﬁg$®§qa(locus)aﬁ®

ﬁwﬁgaﬁqaav‘rzﬁﬁawﬁr&aaq@raﬁqa
g w'd 2 |

qd BT AS THHIT :- I BT 9q &1 s
(h,k) iR a1 'a' § A1 9d BT FHHIT

(x-h)*+(y-ky*=a?® B & |
e o= 7t a5 (0,0) iR FZar '’ a1 FHiaRoT

x*Hy*=a® B B |
afe ga 9ot fag (0,0) ¥ JorRar g ar ga &1
NEIEZY

X2+ y2- 2hx - 2ky =0 BT T |

If gd BT b= x-31&T TR BLAT I BT FHIBROT
(x-hP +)y*=a’ BT & |

I g BT d= y-3FeT R B4 gd BT FAIBROT
X2+ (k)P =2 BT '

& g x-31eT BT TN HRAT &A1 g BT FHBROT

(x-h)? + (y-k)*= k. [ a = |k|] BT B |

e g y-3feT DT W™ PRAT 2,1 g BT FHIDRIT

(x-h)2+ (y-k)* = |h]%, [ @ = |h|] BT B

afe gd ST sl B Wl wxar g o ga @r
HHTDHRT

xFaP+(yFaP=d BT LI

9 gd @l el s (hk) 3R B 'a' 8,
YD THIBRUT x>y +H2gx+2fp+c=0 BT 8, STl
g=-h, f= -k TAT c= W*+k*-a* .

FHIBRT 242 +2gx+2fp+c = 0 BT I BT ATIDH
THIGIOT FHE] ST & NNdT b= (-g,-f) q
AR vgtf—c Bl 2 |

A1 6 a9 & el @ & RRE & e
(x,p,) TAT (x,.y,) BT SF I BT FHIBRT (x-x,)
(x-x,) (7Y ) (7-y,)=0 BT |

TR T y—mx+c qd x*+y*=a’ P Y BT B
ar c=+ayl+m’ B &

Uxderg

T UPR & WA & U g deu

Raerd & | Ay | o | fdar | srer | ifver

BT Gl BT | SfrEr &l
R | TR | s

(i) y’=dax, | (a,0) | (0,0)| x+a=0 =0 4a
a>0

(Right-handed)

(ii) y*=-4ax, | (-a,0) | (0,0) | x-a=0 y=0 4a
a>0

(Left-handed)
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(iii) x*=4ay,
a>0
(Upward)

0.0)

0,0)| y+a=0

x=0 4a

(iv) x*=-4ay,
a0
(Downward)

(0,-(1)

0,0)| y-a=0

x=0 4a

* SfIoT IR SR drEgd & R aed

o aforst didfga | Seafer Sefgd
x? y2 9 y2
O<b<a T 0<b<a AT
c’=a’-b? c’=a’-b?
() d= (0,0) (0,0)
(ii) e (+a,0) (0,+a)
(iii) =Y (£¢,0) T | (0,£c) AT (0,%ae)
(xae,0)
VEEEG] 2a 2a
ESIE]
?bgf TS
(vi) <IeF 3181 &1 y=0 x=0
THROT
(vii)eTg 3reT x=0 »y=0
BT %
(viii)ATfer Sirar 2b 20"
Ea ?*P%l'l’sﬁ a a
(ix)Sh=dTl (e) |, - B Py
a a

(Vi)3TTuReI-3781 y=0 =0
BT HHIDHROT
(vid)THI-31eT x=0 y=0
BT FHDHRT
(vii)Sw@==dr | =< c=<
( e) a a
_Ja+b _Ja+p
a a
e 26 20*
LAl Fﬂ%ﬂg a a

il &S srfiiRaed | SR iRy
x yz yz x
N A
() d= (0,0) (0,0)
(ii) 1M (£¢,0)TT(xae,0) | (0,£c)3M(0,+ae)
(iii) e (+a,0) (0,+a)
(iv)3TTuReI-31eT 2a 2a
EARSESIE]
(v) HgTH-3rer 2b 2b
BT THHIOT
WH&T-11 (MO

Multiple Choice Questions
(98 fadcdim ueA)

Equation of circle with centre (2,4) and radius 5 is
3% (2,4) T4 BT 5 91 9 BT FHHT B -
(a) x*y*+4x-8y-5=0

(b) x*+y*-4x+8y-5=0

(¢) x*y*-4x-8y-5=0

(d) x*+y*+4x+8y+5=0

Equation of circle with centre (0,0) and radius 4 is
®s (0,0)Td Fram 4 91dl 9 BT TP B -
(a) x**=l16 (b) x*H*=16

(c) x*ty*=16 (d) x*y=4

Centre of the circle (x-3)*+(y-1)>=9 is

Jd (x-3)H(y-1)=9 &T &= B :-

(@ (3,1 () G.1)

(© G- (d) (-3,-1)
The centre of the circle x*+)?-6x+4y-12=0 is
qd xMy-6x+4y-12=0 BT D% B :-

(a) (-3,2) (b) (3,2)

(© (G,-2) (d) (-3-2)
Radius of the circle x>+y*-4x+2y-45=0 is
A xHyp-dx+2y-45=0 Y 51 2 i-

(@) 542 units (b 442 units
(@) 3«/5 units 4\F5 units

The centre of a circle is C(2,-5) and the circle
passes through the point A(3,2). The equation
of circle is

(a) x*?-4x+10y-21=0

(b) x*t)*+4x+6y-21=0

(c) x*t)*-4x-10y+21=0

(d) none of these

g AGB,2) 9 oA ard 9d, e o<
C(2,-5) @ &I AHIBROT BITT

(a) x*?-4x+10y-21=0

(b) x*t)*+4x+6y-21=0




(¢) x*y*4x-10y+21=0

(d) TH 9 ®IS T8

D%(-5,-6) ©, BN
(a) x*ty>-10x+12y+45=0
(b) x>ty +10x-12y-45=0

T et are respectiety (e centre (c) x+y10x+12y+45-0
‘“ vely d) x+y+10x-12y+45=0
(@ (5:3,2V5 b (53),5y2 (@ Y L ,
©) (75,3),2\/3 ) none of these 14. For v.vhat Value. of k, 4x*+ky*-2x-9=0 is an
. equation of the circle :-
d (x%.5)2+(y'3)2=20 @ fog, @7 @ fiew k® foa a9 & Y 4xi+ky?-2x-9=0 (b g
hHIA: -
@ (53245 () (53).5¢2 BT HADTT &
(©) (-53).2¢5 (d) &7 P A o E‘jg Y
C -

8. If A(-1,3) and B(0,p) be the extremities of the . . y A .
diameter of the circle x*+)?-6x+5y-7=0,then 15.  The razdluszof the c1rcli 4);;[_43’ -10x+§5y+5—0 15
afe A(-1,3) Td B(o,p), I x+)-6x+5y-7=0 B qd 4x +‘; -10x+5y+5=0 3‘3\/‘%‘“ -

(a) o=-7,p=8 (b) o=7,p=-8
©) a=6.p7 @ o6, p=-7 © 3/ @ >
. rina . 16. The centre of the circle passing through the

9. Centre of the circle 2x*+2y?-6x+8y+1=0 is points (0,0),(a,0) and (0,b) is
(qf)f 2(xz+2§72-6x+8y+1=0‘:"[ ?(ﬁ-—c: 3 ﬁrgg} (%,0),@,0) Td (0,b) @ I[ERA drel gd
a 5.2 (b) (3-4) Dl bYg -

2 » )
b
© (32 @ 32 @ @b ®) (3:3)
- . © 25 @ @b

10. The equation of the circle whose diameter is the 2 2 . ’
join of the points (x,,y,) and (x,,y,) is 17. The centre of the circle (x-a)(x-c)+(y-b)(y-d)=0
ST 49 T Rres ar @ fref 3 1c|s—cr +(y-b)(y-d)=0 BT B~ © :
ﬁ—{n'qa; (x],yl) 'Qa: (xz’yz) g.' ﬁm ((;1) ('z:a-zllj))(x'c) (Y' )(Y' ()b_) (C d) -

(8) (e YO, HY-Y )(yY,)=0 B ’

(B) (- )(y-y (3, (y-¥,)=0 O3 @ o T gcgse o
(©) (x)(y-, Hx,)(y-y,)-0 o ( ¥ T
A Gex )0 )=(y-y (YY) 18. The circle x*+y*+4x-7y+12=0 cuts an intercept
( X XYY Y, on Y-axis of length

11.  The equation of the circle whose diameter is the T Xy +x-Ty+12=0 §RT Y-318T TR I T
join of the points (3,4) and (5,9) is SIS P g © =
SH qd B e g @ RRY & %7 Ed%l
e (3,4) wd (5,9) 8, BIIT
(@) (x-3)(xt5)+(y-4)(y+9)=0 19. The straight line y=mx+c cuts the circle x>+y?=a?
(B)  (6-3)(x-5)H(y-4)(y-9)=0 in real points if
© (x-3)(x-5) (y- 4)(y- 9)=0 LR BT y=mx+c, gd x*+y’=a’ ®lI qredfdd

c X-3)(x-5)+(y+4)(y-9)= ﬁ?g;aﬁq'\fm%uﬁ
(d)  (-3)(x-5)H(y+4)(y+9)=0 (@ Va'(l+m’) <c

12. If (4,1) is an extremity of a diameters of the b) va'(l—-m?) >c
circle x2+y2-2.x+6y-15=0., then co-o.rdlnates of © (1+m) >c
other extremity of the diameter are is . )
gfe qd x+y>-2x+6y-15=0 A B Uh RR (d) none of these (378 & B 7TET)

@1 Frame @,)e g R &1 fams & g, 3x+4y+k=0 touches the circle x>+y*=16, then
(@) (2,-7) (b) (-2,-7) k is equal to
(¢) (-2,7) (d) 27 IfE 3x+dy+k=0, 9d x+y=16 B T Bl 2

13. The equation of the circle whose radius is 4 and Al kT A ®
centre is (-5,-6), will be (@ 20 (b) 5
SY gd &1 gfiexer el Brear 4 wg (¢) 10 (d) none of these

BET-11 (TI'fU\'IT‘D lorra)




21.

(3T & BIg L)

The area of the circle centred at (1,2) and

(a) F(-2,0),x=2
(c) F(2,0),x=2

(b) F(2,0),x=2
(d) F(-2,0), x=2

. ; . 27. For the parabola x’=-16y, the focus and the
passing th.“"z‘gh the point (4,6) is . equation of directrix are respectively,
(a) Smunits (b) 107 units F (0.4). v=4 b)Y F (0.-4). v—4
(c) 25m units> (d) none of these (@) F(0.4),y= (b) F(0-4),y=
N TN . (c) F(0,4),y=4 (d) none of these
fa=g (4,6 SR dTef) < (1,2 .
o a;([ a#)srqm]lé . d (1,2) WRATT x*=-16y & forq I &1 fa™e vg
cord frrar &1 wifievor Hae: §
@ ;’Sﬂjﬁ o ;2;5':: o ? " (@) FOA.y=4  (b) F(0-4)y4
(© 25nad FPR - (d) (¢) F(04), y=4 (d) 37 | B &
22. Theequation of a circle with origin as centre and ,
passing through the vertices of an equilateral 28- For the parabola x*=6y, the focus and the
triangle whose median is of length 3a is equation of directrix are respectively
99 gd &1 GHiexer fSraaT o+ (0,0) 8 Td _3, 3 3, .3
GTQ%Q@WE%&HH}W(?}IZIW @ FO.79)ymy 0 T35y
2 e wrfegsT @ a8 3a @, 3T (©) F(O,%), y=—% (d) none of these
a) x>+y*=9a’ b) x*+y*=16a’ WIAT 2= TiRY frame vq
EC) xz+§2=4a2 Ed; xz+§2=a2 w6y @ fere P o
fraar &1 wftaxor s € -
23. Equation of circle which touches the both axis 3 3 3 3
in first quardrant and whose radius is a, will be @ F(0,=5)y=5 () F(0,5),y=5
i i 3 3 : :
I B S S s o rodo-) @ i
(a) x*ry>-2ax-2ay+a’=0 29. If the parabola y’=4ax passes through the point
Eb; xi+y§-22ax-22ay-a2j00 5131;) then the length of its latus %ectum is I
c) x*ty*t2ax-2ayta*= Udcld y*=4ax, |§I§ 3,2 SIdT
(d) xHy*+2axt+2ay+a’=0 rfer \—rﬁa}; ( o
24. For the parabola y’=8x, the focus and vertex (a) 1 (b) 2
are respectively 3 3
@ F(2,0)and O (0,0) © 3 d) 4
(b) F(-2,0)and O (0,0) . -
(¢) F(4,0)and O (0,0) 30. If A(2,0) is the vertex and the y-axis is the
(d) F (-4,0) and O (0,0) directrix of a parabola , then its focus is
T V=8 B ¥ - Ife fedy waea &1 I AQ2,0) vd faar
y fere o g y-31e & o, [ty &1 frame @
@ F(2,0)3R 0 (0,0) FO.0 B F(2.0
(b) F (_2,0)gﬁqo (0,0) (a) (4, ) (b) ('4: )
© F (4,0)31R0 (0,0) (c) F(4,0) (d) F(-4,0)
@ F (40310 (00) 31. The equation of a parabola with vertex at O(0,0)
25. In the parabola y’=-12x, the focus and the and focus at F(0,2) is
cauation of directrix are respectivly R T e @ A 000) W
)y X7 =20 X F(0,2) 2, dl SaaT Tl 2
() F(3,0),x=3 (d) none of these (a() )2 g (b) x=8
. . y=ox X=oy
TRATd y>=-12x | H%&[ &1 frame ud fraar ©) y=dx d) x=4y
BT GO0 B T o- ) )
@ F(3,0), x=3 b) F(-3,0), x=3 32. gg:f:;?: xo_f ;l:: parabola with focus (2,0) and
(© F(3.0.0=3  (d) T I Pl Tel TIRT (2,0) T FRIAT x=-2 is 918 URAAT B
26. For the parabola y>=8x, the focus and the FHHROT © —
equation of directrix are respectively (a) x*=8y (b) y*=4x
WRIdd y=8x & faru -1 &1 frame uq (c) x=dy (d) y=8x
a1 FfeReT e € - 33. The equation of a parabola having focus (-3,0)
FefT-11 (0T —




and directrix x=3 is 2y
TR (-3,0) T FEar x=3 9 WRadd BT qeqa {p+5 = 1 BT Iepwwdl © —
. @ 0 5§
(a) y*=12x (b) y*=-12x 4 4
(c) x*=12y (d) x>=-12y J7 3
(© 1 d o
34. The equation of the parabola with vertex at the
origin and directrix y=2 is 41. Length2 of latus rectum of the ellipse
r - 2
Y (0,00 vd fAuar y=2 drd WRadd B ESD A
THHRT & — 169 e
(a) y=8x (b) y>=-8x defga o+ =1 d TfEE Sftar @
(© y=v8z (d) x=8y awrg @
35. Find the length of latus rectum of the parabola (a) 6 (b) %
y=8x 32 1
gﬁaﬂw:&ca%m&lmﬁﬁmaﬁaﬁﬁaﬁ © 3 @ 3
— 2 2
(a) 8 (b) 4 42. Lengthoflatusrectum of theellipse %+f’—6 =1
(c) 16 d) 2 is o
36. The equation of an ellipse is 9x*+16y’=144, <refga %+%=1 & ifverd Sfiar &)
length of its major axis is g B
Udh q &1 GHIHIUT 9x2+16y*=144 B ql @ 6 ) 9
D 318 DI AHES B 2 Z
(@ 16 (b) 9 © 5 @ 3
(c) 8 (d) o ,
9 9 43. Eccentricity of the ellipse f“—6 + %’—6 =1is
2
37. The equation of an ellipse is Z_ Y _ 15 mﬁ x_2+y_: 1 BT Serdr &
length of its minor axis is 126 9 3 16 * 36 5 :
2 2 ra
Ud drdqa o1 gl i”_6+%:1§?ﬁ @ 3 ®) 3
D dY—3H DI IS o— (c) @ (d) @
(a) 16 (b) 9 . ,
(c) 8 (d 6 ® Equation of an ellipse is %+§lf6 =1, then
2 2 the following (Q. 44 - 49
38. The equation of an ellipseis £_ Y __ ;. co- answer the following (Q 2 ) y?
ordinates of its vertices are 16 foel <refga &1 wHfievor 4 T3¢ 71 2, dl
(@) (#4.0) (b) (£6,0) 1 gel & SR Q@ (Q.44 - 49)
44. Length of major axis is
c +24/5,0 d) none of these g ]
© (£2/5.0) (d) onef PN oA S
v dEfqd &1 @ftever £ Y - @ at (@) 2 (b) 6
. .36 16 4 d 12
e ANul & frame & — ©) (d)
(a) (+4,0) (b) (+6,0) 45. Length of minor axis is _
© (+2/50) (@ 9 T I-SiE B T B
(@ 2 (b) 6
2
39. Co-ordinates of foci of ellipse Z_ 4 Y _ 1 are (c) 4 (d) 12
x2 y2 16 9 ! 46. Co-ordinates of its vertices are
diedqa 5 +5 =1 @ T @ Frame & - s el & Fames € —
(a) (4,0) (b) (£3,0) (@) (0,£2) (b) (0,6)
(c) (£5.0) ) (£/7,0) (c) (£2,0) d) (6,0)
, 47. Co-ordinates of its foci are
2 - -
40. Eccentricity of the ellipse Y _ | is e Tl & fame § -
169 (@) (0,£4y2) (b) (£4v2,0)
FHefT-11 (TIOTAD) 77




(¢) (0,£4) (d) (+4,0) 53. If the length of minor axis of an ellipse is 16 and
48. Eccentricity, e= foci are (0,£6). The equation of ellipse is
Sebadl, o= ER R
2,/2 @) %+H b ® fop g =1
(@) 2V2 (b) Tf ¥
+ —_—
© . \35 ) \/15 (©) 1 6 36 =1 (d) none of these
49. Length of latus rectum is fooxft delqa & arg—aer @ @ “g 16 & 211
TRTeT ST 2 e Y - mﬁmﬂﬁmm(ois)% drdqa a1
4 gflevor 2 —
(@ 3 (b) 316 © x_2+y_2=1 " 2 +y_2:1
(c) 9 (d) g 36 6421 100~ 64
2
50. The vertices of an ellipse are (£5,0) and its foci (©) % + % =1 (d) g8 3 Blg T8l
are (£4,0). The equation of the ellipse is
) ) ) 5 54. The length of major axis of an ellipse is 20 and
(a) g—s + % =1 (b) % + g—s =1 foci are (0,£5). The equation of ellipse is
Y LY L A XY
(© 25%j=1 (@ jgt35 =1 @ F5tiee =1 ©® 25F55=1
5 2
fodl drefqa & oy (£5,0) d=m T (+4,0) (c) §_5+ 1}(1)0 =1 (d) none of these
2, a drefgqa &1 afierer @ —
R R fodlt drefqa @& drd—a1er 31 91 20 @ dAn
(@ 55 t+t75 =1 b)) G trz=1 T & e (0 +£5) @ Al e @1
25 9 9 25
A x’ Yz L
(C) g‘i‘ﬁ =1 (d) E 25 =1 xz 2 2 yz
51. The foci of an ellipse are (+4,0) and its @ 75 00 =1 (b) 25 t40 40 =1
1 2 2
eccentricity is 5. The equation of the ellipse is x Y : -
3 o © H5tioo=! (@ T PR T
y X y
@ {gt9o =1 145 1og=! .
162 ? 5 144 128 * If equation of a hyperbola is 1)6—6—% =1, then
(©) l)fﬂ + y_ =1 (d) none of these answer the following questions (Q 55- 60)
N?ﬁtfaaa%mﬁra%ﬁum(ﬂm%am foell srfirazaera a1 E_7_1§
P Sepewdl + 2| defqa B whewr 2 a fre1 el & S ( Q. 55-60)
¥y ¥ y’ 55. Length of its transverse axis is
@ {779 =1 b)) 744 T8 T ! SUD U3 DI IS B —
2y (a) 4 (b) 3
x . -
(©) m+ﬁ=1 (d) STH ¥ BIg e (c) 8 d) 6
52.  The vertices of an ellipse are (0,+13) and its foci 56, Length of its conjugate axis is
are (0,£5). The equation of the ellipse is 3 G-I B TS ? -
¥ y. 2,y (a) 4 (b) 3
@ Jeo*1as =1 ® e 2571 () 8 () 6
2 2
(c) l)fﬂ + 1{@ =1 (d) none of these 57. Co-or(_:énates of its gertices are
e qdqa & oMinl & Frams (0,£13) g Tify (@) (£3,0) (b) (£4,0)
o e (0,25) € a defqa &1 wfiex 2 — (¢) (0,£3) (d) (0,£4)
2 2 2 2 . . .
(a) 29 + Y —1 (b 169 _|_y_ 1 58. Co-or(!u%ates of its f(gl:z:re
(C) 124 + 129 =1 (d) s:rq QE[ Em—s‘ :%3[ (a) (i350) (b) (i450)
FHefT-11 (TIOTAD) (178)




(c) (5,0) (d) (0+5) ) J13
59. Eccentricity (e) is equal to @) ﬁ (b) 32
Sch-adl (¢) IRTEX B — © 3 d 5
5 5
@ 4 ®) 3 67. Length of latus rectum is
4 3 Afrer Sflar &) aHEE ' —
(c) 3 (d 7
(@ 9 (b) -9
60. Length of latus rectum is 3 9
Ao Sffar & a8 © — ) 5 d 7
32 32
@ g ®) 3 XY .
9 68. In the hyperbola P 1 the value of b? in
() b2 (d) mnone of these terms of a and eccegltrimty e is equal to
- . 2
(T 31 P ) afRaes 25— =1 ¥ b &1 A a AR
. . a b
61. The vertices of a hyperbola are (+2,0) and its Schadl (¢) ® Tal 9 8 —
foci are (£3,0). The equation of the hyperbola is (a) a(l-¢?) (b) ae-1)
2 2 2 2 2 2 2
(a) %_y?:l (b) x?_}’?:l (c) e*1 (d) (e*t1a
2y 69. The length of latus rectum of hyperbola
() XT_T =1 (d) none of these 2y
? B ? -1 182 2
s Jfauraey & el & e (2,0) 9= aﬁuwx—z—%zla?mﬁmsﬁmaﬁ
Ty @ e (£3,0) € sifauRadd &1 s & -2
fiaeor 8 — 2 )
2b” by 20
2y -1 b <y -1 ® az ® 3a 2
A © = @ 2P
(c) XT_YT =1 (d) ST & PIg &I 70. The length of latus rectum of the hyperbola
25x2-36y?=225 is
* If equation of a hyperbola is 9y*-4x?=36. Answer the AfTuRaGed 25x2-36y2=225 @ AT+ Sfiar &Y
following questions (Q. 62-67) oETE © —
afe feh BT FAHIDHYT 9y2-4x’=36 25 25
2 Frafalad gl @& SR @ — @@ & (b) -
62. Length of its transverse axis is 25 24
SHD IATURI—IAA B @dls & — © @ 3
(a) 2 (b) 3 71. The foci of hyperbola are (£5,0) and its
(c) 4 (d 6 transverse axis is of length 8. The equation of
. . .. hyperbola is
63. Length of its conjugate axis is - .
e g U fduraerd ) AIRET (+5,0) ¥ qAT gHS
AU DI @dlg 8 B dl fTIRAAT BT
@) 2 ® 3 afiavor 8 —
(c) 4 (d) 6 '
2 2 2 2
64. Co-ordinates of its vertices are (a) f‘—6 — % =1 (b) % — 1y_6 =1
?ﬁ-qT Zﬁ ﬁ—{rm % — 5 y2 5 yz
(@) (0:£2) (b) (0.3) © 235~ 76=1 (@ fg—35=1
(c) (£2,0) (d) (3,0)
65. Co-ordinates of its foci are 72. The length of latus rectum of a hyperbola is
it @ forames € 12 units and its foci are (+4,0). The equation of
() (+13,0) (b) (0,%v13) hyperbola is
(c) (3,0) (d) (0+3) R R
66. Eccentricity (e) is equal to (@ g —¢g~1 b g —g~1
S adl (¢) IRMER & — ER
© 4171 (d) none of these
WH&T-11 (MO ~—




U IAfAuRderd & AR Sfidr &) odqrg 12
SHIS & dAT 39 -l & e (+4,0)
2 dl sfuraey &1 e & —

@ Fke1 ® 5k
© F-H=1 @ e

hyperbola is

Y ¥ <y

@ 3g717=1  ® 3g777 =1
v X

(©) 55 11 | (d) none of these

Ife sfduaes & wg=ll s @1 s
2/11 2, ar ARy @ s (0,4£6) @ dr
IfouRaera &1 gfiexor 8 —

73. The vertices of a hyperbola are (0,£3) and foci
are (0,£5). The equation of the hyperbola is }i X x }i
., . @ 3¢ 11-1 ® 377771
@ fe-5=1 () H—i=1 v . |
69 © 5517 =1 (d) 3TH | PIg T2
(©) % - 5—5 =1 (d) none of these
Udh aﬁmwm & 3Nl & fFrame (0,:|:3) g Very Short Answer Type Questions
T AT (0,45) © | IfauRaerd &1 AHidoT @fa org S8 geA)
2 -
5 ) Find the equation of a circle with centre (-3,2) and
y X y X - -
(a) 16 9= 1 (b) 916" 1 radius 4 units.
Py % (- 3T 4 gd18 aret FHHROT
Yy _x _ : : (-3,2) e 4 g BT
© G751 () FTHIIE T ST B |
74.  The vertices OfSa hyperbola are (0,£6) and its 7 Find the centre and radius of the circle
eccentricity is 5 . The equation of hyperbola is x*+y*+8x+10y-8=0.
wsrﬁlwama?‘zﬂﬁ$ﬁ?m¢(ois) s
gd x+y+8x+10y-8=0 &1 b= T FFrar sma
2 da1 Schwedl 5 © dl JAfAuRddd &1 | Y Y
fieeor 8 —
v 3. Find the equation of a circle with centre (-a,-b) and
26 64 radius va" —b".
@ 36764~ ! dius va’— b’
) %_g_zzl &= (-ab) T B Ja’-b Al gq @
62 FHERT ST P |
y _
© 36 62~ 1 4.  Find the centre and radius of the circle
(d) none of these(STH A BIs e (c+5)(y-3)>=36.
75. If one focus of hyperbola is (0,4) and length of g (x+5)+(y-3)’=36 &I T dAr B =
transverse axis is 6. The equation of hyperbola DY |
is
gfe sfquraaa @ TIeT—31eT P 9IS 6 5. Find the equation of a parabola with focus at
2 qAT e AN (0.4) 2 a AfRaeEd & F(2,0) and directrix x=-2.
SRIEALU A (2,0) IR Al x=-2 el WRadd Bl
@ Y& FHIDBROT S B |
a _— =
92 72 6. Find the equation of a parabola with vertex (0,0)
(b) x7 - % =1 and focus (0,2).
© y_2_x_z=1 U RIS BT AHIBROT S Hifore T ot
479 (0,0) 3R = (0,2) 2|
(d) none of these(ZH ¥ I Te) 7. Find the equation of an ellipse whose vertices are
76. Foci of a hyperbola are (0,+6) and the length at (£13,0) and foci at (+£5,0).
of conjugate axis is Z/H. The equation of — c;'\lticicl 1 IR ST Hife Frad 0ot
FefT-11 (0T (120




10.

11.

12.

He&T-11 (oI

g} fdena (£13,0) T T @ A<End (£5,0)
|

Find the equation of an ellipse whose vertices are
(0,£5) and foci are (0,£3).

I g BT AHIBROT ST DIfTg g it
@ e (0,+£5) T AT & Fdwid (0,43)
g

Find the equation of an ellipse in which
b=3,c=4,centre=(0,0) and foci lie on x-axis.

99 <rEHgd b1 wHieRe o BIfTY e
b=3,c=4, T =(0,0) TAT AHAT x-37eT TR Rerd
g

Find the equation of hyperbola whose vertices are

+/11

(0, 3 ) and foci are (0,£3).
I AfARATT BT FHBIOT S BIoTe oT9h

sﬂﬁa%ﬁam’cﬁ(o,i‘zm)am:r@ﬁ$ﬁam’cﬁ

(0+3) £ |

Find the equation of hyperbola whose foci are
(+4,0) and length of latus rectum is 12.

I ATRATT BT FHIHIOT ST BHIOTT oTrTd
A @ Sed (£4,0) € TAT A SiAT 6
TS 12 B

Find the equation of hyperbola with foci (0, £ \/E )
and passes through the point (2,3).

I AfARITT BT FHHRT 1d BT a9 h
Y & e (0, +4/10) & @ g (2.3)
A ToRAT B |

Short Answer Type Questions
(org S yw)

If the equation of the two diameters of a circle are
x+y-6=0 and x+2y-4=0 and radius of the circle is
10. Find the equation of the circle.

gfe e g & & gl & FHIBROT x+y-6=0
T x+2y-4=0 § TAT g &1 51 10 B | gd BT
HHIHROT T BN |

Find the equation of the circle of radius 5, whose
centre lies on x-axis and passes through the point
(2,3).

fZrur 5 & 89
P x-3TeT W

BT FHIDHRT ST DITOTY FoTTahT
3R ot favg (2,3) & ofrar ¥

10.

(121}

Find the equation of the circle which is concentric
with the circle x’+y*-8x+12y+15=0 and which
passes through (5,4).

I gd BT FHIHRT Faifert fgar o= a8l &
S gd x+y-8x+12y+15=0 & B IR S fag
(5,4) ¥ PR ST 2 |

Find the equation of the circle whose centre is
(1,2) and which passes through the intersection of
the lines 3x+y=14 and 2x+5y=18.

I gd BT FHIBROT FapIfery et &= (1,2) ©
AT S X@RI 3x+ty=14 3R 2x+5y=18 & ©EA
a5 & B I B |

Find the equation of the parabola with vertex
at origin, symmetric with respect to y-axis and
passing through(2,-3).

I RGBT AHIHRYT 1A B et MY qaf
fag W 2, (2,-3) ¥ T[oRAT & TAT y-31&T & ATUe
TAMT B

Find the equation of the parabola passing through
(2,3) with vertex at (0,0) and axis along x-axis.

IT TRAAT BT FHIBROT S B Gl (23) 9
g?ﬂ?n 2, ¥ (0,0) & TAT 3HeT x-31&7 B IfT
[

Find the equation of the ellipse having axes along
the co-ordinate axes and passing through the
points (4,3) and (-1,4).

I QHgd BT FAIBROT S DI, oI 31er
fden a1l & argfeer € o fa=gel (4,3) wd
(-1,4) ¥ ToRaT T |

Find the equation of the ellipse whose foci are
(+4.0) and eccentricity e=%

fFRImH® (£4,0) 8 T SHAT e=75 T

Find the equation of the hyperbola having e=%
and foci at (£3,0).

I RIS BT THBROT oA B AT
B?GWFITeZ% 2 iR =ft (3,0) €1

Find the equation of hyperbola whose foci are
(0,£12) and length of latus rectum is 36.

I JMfAIRTAT BT FHIBROT ST BT TTaDh!
gﬁ'ﬁ?ﬁ (0,£12) € 3R AT AT &I TS 36
|




Long Answer Type Questions
(el ST gee)

We have centre = (-3,2)
radius = 4 units

.. Equation of circle is
(H3)H(y-2P=(4)

1. A circle has radius 3 units and its centre lies on 5 5
B . . . n or, X*+6x+9+y*-4y+4=16
y=x-1. Find the equation of the circle if it passes s 8
through (7,3). or, Xy +6x-4y-3=0
: 5 2. Given circle is x>+y*+8x+10y-8=0
U g 1SR N 3 $PIE €, AP B4 IR Here 2¢g=8, 2f=10 and  c=-8.
Gl y=x-1 W & | gd BT FHIGT ST B IS gi4’f:5
ag 7,3) ¥ ToRdT © ’ ‘
ﬁﬁ (7.3) | Centre=(-g,-f)=(-4,-5).
2. Fil'ld the equation of the circle passing thfough the Radius= \/ F+f—c= \/1 6+25+8
points (2,3) and (-1,1) and whose centre lies on the .
line x-3y-11=0. = /49 =7 units.
I g B TR ST Y Sl fﬁgaﬁ 2,3) 3R 3. We have centre=(-a,-b) and radius=y/a’ — b’
(-1,1) ¥ T[ORaT B ST dew @ x-3y-11=0 W . Equation is (x+a)>+(y+b)>=(ya’ — b*)?
gl or, x*+2ax+a’+y*+2by+b’=a’-b
3. Find the equation of a circle passing through the = xH+y*+2ax+2by+2b?=0.
points (5,7),(6,6) and (2,-2). Find its centre and B .
radius. 4. Centre=(-5,3), radius=6.
) , Since the focus lies on the x-axis, so x-axis is the
X g T AHIDROT =T kAl ﬁ%@ (5,7),(6,6) axis of the parabola.
3R (;2) Kl NSEGH 2| SHPT ®g IR B W Focus (2,0) lies to the right hand side of origin.
= | .. It is a right handed parabola.
4, Find the equation of the ellipse with eccentricity Let the required equation be y>=4ax.
, foci on the y-axis, centre at the origin and . Focus is (a,0). .. a=2
passing through the point (6,4). T o
R Hence the required equation is y*=8x.
W Ciltl‘ﬂd BT FHIHR] =IMd RTT®! Schvadl
6. We have vertex =(0,0) and Focus=(0,2).
%Wﬁmyaaw%aﬁﬂaﬁ@%am . _ ( )_ ?_) ,
@% 6,4) A TR = Since focus lies on y-axis, so y-axis is the axis of
parabola.
Multipule Choice Questions's Answer Also,the focus lies above x-axis
.. It is a upward parabola.
; z g E 3 ]s 41‘0 Z ?1 E ?2?) Lejc the equation of parabola be x>=4ay.
13.¢ 14b 15.a 16.b 17.c¢  18d . a=2
19. ¢ 20.a 2I. ¢ 22. ¢ 23. a 24.a Hence the required equation is x*=8y.
25. b 26.b  27. b 28, ¢ 29. ¢ 30.c 4 Since the vertices of the ellipse lie on the x-axis .
31. b 32.d 33.b 34. d 35. a 36.c ) ) ;
37.d 38b 39.d 40.c 4l.b  42b Itis a horizontal ellipse.
43. d 44.d 45 ¢ 46. b  47. a 48.b Letth fellinse b %2 yz_1
49.a 50.a 51.b 52 ¢ 53.d Sda et the equation of ellipse be ~ >+ 75 = 1.
55. ¢ 56.d 57.b 58. ¢  59. a 60.c Its vertices are (+13,0), .a=13.
61. C 62. C 63. d 64. a 65. b 66.b and fOCl are (is’o). .'.025.
67. a 68.b 69. a 70. a 71. a 72.c o tms e B
73 b 74 a 75 4 76. ¢ Now, b*=a’-¢c>=132-5 —169-252—144.
. . . .x y _
Very Short Answer Type Questions . Required equation is 169 T4~ 1
(CISECEESENERES) 8. Since the vertices of the ellipse lie on the y-axis.
WH&T-11 (MO (152)




10.

I1.

He&T-11 (oI

It is a vertical ellipse.

2 2
Let the equation of ellipse be x4 y_2 =1;
b a 12.
(a>>b?)
Its vertices are (0,£5). CLa=s.
and foci are (0,£3). c.oc=3.
Now, b*=a?-c>=52-32=25-9=16.

.. Required equation of ellipse is
LY _
16725

Since foci lie on x-axis.

1.

.. Required ellipse is a horizontal ellipse.
Also, b=3, c=4.
o a=be?=32+42=9+16=25.

2 2
Required equation is 5—5 + % =1.
Since vertices of the hyperbola are of the form
(0,£a). Hence it is a vertical hyperbola.

y X
Let the required equation be 2z % =1.

and foci =(0,£3)

2 g2—g 1L _ 25
b*=c*-a’=9- ;- =
2
Required equation is Ll_ ;5 =1.
4

Now,

4y a4y’ 4

or, 11 " 25 1.
Since foci are of the form (%c,0).

Hence it is a horizontal hyperbola.

2
Let the required equation be % - % =1.
.. Foci=(£c,0)=(+4,0) = c=4.

c=16=a’+b*=16

2

Now,length of latus rectum =12. 2.

2 2
% =12= % =6.
= b’=6a.
From (i), a*+6a=16 = a’+6a-16=0
—2a+82-2a-16=0 = (a-2)(a+8)=0
=a=2 (..

. from (ii) b>=6x2=12.

a#-8).

2 2
. . .X
Hence required equation is 4

—
=l
|
—_

Since foci=(0, + \/B ). It is a wvertical
hyperbola .

2 2
Let its equation be % - % =1. . (1)

Now, ¢ =10 =c=10 =a>b=10.......... (ii)
Since (i) passes through the point (2,3).

.9 4 _
. az b2 1
L2 (- from (ii), b>=10-2?)
2 10—a 2 ’ :
9(10—a’)—4a’ _ > A2 2
= 22(10— a)) =1 =90-9a*4a’=a’*(10-a%)

=90-13a’=10a*a* = a*-23a’+90=0.

= (a’-18)(a>-5)=0but a>-18=0 is not possible
(by(i1))

=a>-5=0 = a>=5. ..From (i),5+b*=10

= b>=5.
2 2

Hence required equation is y? -5 =1

Short Answer Type Questions

(o, S ue)
Given diameters are x+y-6=0 ... (1)
and x+2y-4=0 ......... (i1)
on solving (i)and(ii) by cross-multiplication, we get
X __y __1
—4+12 —-6+4 2-1

x _ Yy _1
== "5 "1 = x=8,y=-2

points of intersection of diameters is (8,-2).
..centre=(8,-2)

Also, radius=10.

.".Equation of circle is (x-8)*+(y+2)*=100.
or, x2-16x+64+y*+4y+4-100=0

or, x*+y?-16x+4y-32=0.

Since the centre lie on x-axis.
Let centre of circle be (h,0). Also radius=5.
.. Equation of circle is (x-h)*+(y-0)’=5>
or, x2-2hx+h*+y?=25.
Since it passes through the point (2,3).
S0 222 h2+h*+3%=25
or, h2-4h+13-25=0
or, h2-4h-12=0




or, h2-6h+2h-12=0
or, h(h-6)+2(h-6)=0
or, (h-6)(h+2)=0

1

.22=da(-3) - 4=12a - a:% =1

2—

..required equation is x>=—4 X %y = _74y.

— h=-2 or 6. 6. Since vertex=(0,0) and axis along x-axis.
Hence, required equations are .. Equation of parabola is of the form y*=4ax or
, ’=-4ax
2-2(-2) xH(-2)Hy?=25. o _
25 GGy ?=D5 Since it passes through the point (2,3).
or, x*-2.6x y= o
e PoryAx21=0 or  xthy12x+11=0 .. It is a right-handed pzarabola.
. Let it tion b =4ax.
Given circle is x> +y*-8x+12y+15=0 e Iis cquation be y ) “
- its centre =(4,-6) It passes through the point (2,3).
.". centre of required circle = (4, —6). 32=4a.2 —~09=83.".a= % )
Also, required circle passes through the point ) L, 9
.. Required equation is y” =4 X ¢x
(5.4). 8
itsradius=\/(4_5)2+(_6_4)2. or, 42:%36-
=4/1+100 = 4101 I
equation of required circle is 7. Let equation of ellipse be el + B | I (1)
(x-4)+(y+6)*=(/101 ). Since it passes through the points (4,3) and (-1,4).
2_ 2 _
or,  x-Bx+lbty+12y+36=101 A6 % =1....(if) and %+L—62 = 1....(iif)
or, x*+y? — 8x+12y — 49=0. a a
on solving (ii) and (iii), we get —5 = . and
Given lines are 3x+y-14=0 ... (1) 1 _ 15 ’ a’ 247
and 2x+5y-18=0 ... (ii) b’ 247
2 2
on solving (i)and(ii) by cross-multiplication, ..required equation is ;%7 + 1257}17 =1.
s RS = T3 L > 8. Since foci=(+4,0).
X y 1 5 26 It is a horizontal ellipse.
L5y T TI3CNT I3V T3 |
x=4, y=2 we have c=4, =3
..Point of intersection of (i)and(ii) is (4,2). % = % = % = % =a=12.
.".Circle passes through the point (4,2) and centre Now,  b*=a’-c*=12%-4%=144-16=128.
is (1,2). Y
.".Required equation is 77 + =1.
- radius=+/(4 — 1)* + (2 — 2)? =3 units 144 128
~.equation of required circle is 9. Wehave foci = (£3,0).
(x-1)(y-2)>=32. .. It is a horizontal hyperbola.
or, xHy?-2x-4y-4=0. Now, c=3, e= % .
We have, vertex of parabola is 0O(0,0). and c_3 3_3 —
symmetric about y-axis. "a 27a 278 ‘
.. Its equation is x>=4ay or x*=-4ay. ~bP=ct-a’=32-27=9-4=5. ,
2
Since the parabola passes through the point (2,-3). ..Equation of hyperbola is XT — y? =1.
It is a downward parabola.
..Let its equation be x>=-4ay. 10. We have foci = (0,£12).
It passes through the point (2,-3). 7. Itis a vertical hyperbola.
HafT-11 ATOTD) (T57)
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2
c=12 2;’ =36=b"=18a.

Now, a’=c?-b>=12%-18a=144-18a.
= a28a-144=0 = (a+24)(a-6)=0

Now, and

= a=6 (".” ais non-negative).
C.a>=36 and  b>=18a=18x6=108.
..Required equation of hyperbola is
2 2
Yo_x
36 108 :

Long Answer Type Questions
(et ST geA)

Radius of the given circle =3.

Let centre of circle be (a,f3).

.. (0,p) lies on the line y=x-1.
C.p=a-1.

Now,the equation of circle will be

(-0 +(y-B)*=3%.

Since the circle (ii) passes through the point (7,3).

S (7-00)*+(3-B)*=9

Putting the value of B from equation (i) in (iii), we
get

(7-00+(3-0+1)°=9.

or, (7-0)*+(4-0)*=9.

or, 49+a2-140-+16+02-80=9.
or, 202-220+56=0

or, o?-110+28=0

= (0-4)(a-7)=0 = a=4,7.
. from (i), B=3 or 6.
.".Centre of the circle is (4,3) or (7,6).

Hence from (ii) equations of the required circles
will be

(x-4)*+(y-3)=9 or, (x-7)*+(y-6)>=9.
ie. x> +y*-8x-6y+16=0 or, x+y>-14x-12y+76=0.

Let A=(2,3) and B=(-1,1).
A B
23) “L1)

Given line is x-3y=11
Let L be the mid-point of AB.

(125}

.".Co-ordinate of L=( 2-1 ,—3 o1 )
2 2
1
=(7,2).
. _3-1_2
.. slope of AB = SF1 3

Let H be the centre of circle ,

S HLLAB. .. Slopeof HL= 73
Equation of HL is y-2= _73(x - é—)
o, 2y—4=—3x+%
3

o, 3x+2y—4—j=0
o, 6x+4y-11=0
o, 6x+4y=11.
..centre H of the circle lies on line (i) and (i1).
". It is point of intersection of (i) and (ii).
on solving (i) and (ii), we get
X = % andy = —75

Centre H = (%,_75 .

radius = HA= /(2 —~2)" + (5> — 3)°

Hence equation of the required circle is

=D+ +3) =/ %)

2x—7 2yt5.,_ 65

or, ( 2 )2+( 2 )2_7
or,
4’ —28x+49 4y +20y+25 65

4 4 2
or, 4x2-28x+49+4y*+20y+25=130
or, 4x*+4y2-28x+20y-56=0
or, x> +y*-Tx+5y-14=0.

Let equation of the required circle be
X +y?+2gx+2fy+c=0

Since (i) passes through the points (5,7),(6,6) and
(2,-2).

S 10g+H14f+74+¢=0 ... (i1)
12g+12f+724c=0 ... (1ii)

and 4g-4f+8+¢c=0 ........ (iv)

by (iii)-(ii), g-f-1=0 ... (v)

and by (iv)-(iii), g+2f+8=0

1



on solving (v) and (vi), we get g=-2, {=-3

.. from (ii),

-20-42+74+¢c=0

= ct12=0 = c=-12

Hence required equation of circle is
X2+yr—dx—6y—12=0
Its centre = (2,3).

4. Since foci lie on y-axis and centre at the origin .
2 y2
.. Let equation of ellipse be % + el
Since it passes through the point (6,4)
36 | 16 .
2 + P | (i1)
3_¢c_3
Also, €e=4=>32"%
_3
C 4 a
2—n2_~2—n2 i 2
Now, b’*=a’-c —a—(4 a)
_ 2% _ T2
=a =
16 16
.. 36 16
.. From (ii), Ta’ +? =1
16
576 , 16 _ 576 + 112 _
e e 17T g !
688 _ 1 »_ 688
= 7 2 = a 7
2 1, 688

x° yz

23 Tegg |

L ey
43 " 688 = -

= 16:x>+7y’=688.

Very Short Answer Type Questions
(erfa org ST UeA)

1. &= =(-3,2) d Foar =4 ga18
;. gd BT FHERT B —
(e +3)*+(y-2)>=(4)°
or, XH6x+9+y*-4y+4=16
WH&T-11 (MO

1

radius= v4+9+12 = \/E =5 units.

- g e @ A4

or, x*+y*+6x-4y-3=0
2. fewrmargg € —

x*+y?+8x+10y-8=0

TB[ 2g=8, 2f=10 q=UT  c=-8.
g=4, f=5.
FE=(-g-N~(-4.-5).

qor Brea= /g2 + £ —c=4y/16+25+38

=49 =7 3&TS.

TET Bw =(-a,-b) qAT BT =y/a> — b’

. g BT FHIERT  (x+a)H(y+b)=(ya’ — b%)’
or, x*+2ax+a*+y*+2by+b’=a’-b

x> +y*+2ax+2by+2b*=0.

Pw=(-5, 3), B =6.

=

A x-37e7 IR Rerd B, o1 WRId BT 3T
x-378T 2 |

AT @1 FRmE =(2,0)
. IRt right-handed ¥ |

S AT {6 IRIAT BT AHIGROT y>=4ax & |
JEf 1Y =(2,0) ..a=2

3N T FHIHBIT 7, y>=4x2x=8x.
&1 ¥ =(0,0) ATH=(0,2).

AR y-3te W R B, o1 Waed &1 3t
y-3TeT R |

AT y-31e] B HURN W H R B, 31 IE Uh

upward TR T |

AT {6 IRITT BT AHIBROT x2=4ay T |
JEf a=2

. IMTE FHIRUT & x2=4 X 2y = 8y.

Y -3 R Ry €1 o I8 Ua AfaoT
reigd 2|

W%éﬁgﬁﬂ»‘rwﬁwx—jJrg—:l%l
i = (£13,0),
AT A = (£5,0).

c.a=13.

..c=5.
31d

b*=a?-c’=13%-5?=169-25=144.

1690 T142 — -

o AEgd & o y-ate IR Rerd ¢ |
;.8 U Searer dregd B




L

qT T c;lufj_d BT FHBR 25 2 1; (a>b?)
3 b T c=y/10 =10 =a*b=10.........(1)
MY &1 F=9md = (0,45). .. a=5. %
0:£5) ¢ W%WWW———ZZI%I
qAT IR T ﬁ'ﬂTH’aF =(043). =3 (ii) b
—q2_02=52_.32=75.0=
= =a2-c?=52-32=25-9=16. ﬂ%’ﬁﬁ@,f&)@w%l
ara: drdqa B aﬂﬁw TG B | 9 4
2 y 26 =1
16t =1 9 4
- S ———— =] (i) 9, b>=10-a%).
.. a 10—a
9. oA x-31e7 TR Rerd B 9(10 — a’) — 42’
;. 3piee <rega alferst dregd © | = Oy | = 90-9akdai=a(10-a%)
. b=3, c=4. =90-13a’>=10a%*a* = a*-23a+90=0.
2=b2+02=32+42—9+16—25 = (a%-18)(a2-5)=0<IfhT a2-18#0 ((i) )
2
;. 3PE. FHIRT & —+7 =1. = a2-5=0 = a’=5. b=10-2>=10-5=5
2 2
ot arfiee TG ¥ e — X =1,
10. '.'s‘nﬁzﬁrﬁer'cF(o,i@). 503
a8 T gl Short Answer Type Questions
2 a
HHT [ IfAURaAT BT AHIBRT %_7_ 121 (e )
V11 ) _ 11 fed T @ & wHiHr € -
S a="5" A= x+ty-6=0 ... (i)
AT T =(0,43) =3 1.¢=9 A x+2y-4=0 ..o (i)
FHIGRT (i) TAT (i) BT gorIoH Y | 8 R R,
2—~2 52— A_z_s
379 b—c—a—9—4—4. X y 1
V2 —4+12 —6+4 2-—1
I DT B~ 55 = | x_y _1 o
- 7 =gy = x8y=2
4}’2 4y? 4 4 ] N
= T~ 55 =1 . N BT deH O § (8,-2)
o Jd BT bew =(8,-2
1. A &1 ﬁ?TrH’cﬁ:(ﬂ,O) B ®-2)
=4 =16 g e =10,
Sattb=16 ... @) . gd BT FHIBRT B (x-8)H(y+2)>=100.
3G AT SIaT Bl TS =12. 7 x2-16x+64+y*+4y+4-100=0
0, b il x>y2-16x+4y-32=0.
a a
= b=6a. (i) B x-S R Rerd 2
R a6 461620 - T 6 B &1 e = (h,0).
. (1) 9, a*+6a=16 = a*t+6a-16= T[:%\r s
=a’+8a-2a-16=0 = (a-2)(a+8)=0 S gd &l THIHIT & (x-h)>+H(y-0)>=5?
—a=2 (" a-8). or,  X2hvth™y=25. .. (i)
. (i) I b=6x2=12. 97 f37g(2,3).9 o 7 |
y’ S 22-2.h.2+h*+32=25
SIC: STHTES RTHTPR® %*_ﬁ L. or, h2-4h+13-25=0
or, h2-4h-12=0
12. =Y BT e =(0, £4/10). or, h2-6h+2h-12=0
HefT-11 0T (T57)

", U8 U IR SIfuRderd 8 |




or, h(h-6)+2(h-6)=0

I IS HHIHRUT %x2=—4><%y =_T4y.

or, (h-6)(h+2)=0
=h=-2 3T 6.
_ 6. . ¥ =(0,0) TAT 3eT x-378 H AL T |
3r: arfie FHIdRoT & - URAETI BT TR yi=dax AT y'=dax B U
x2-2(-2).x+(-2)*+y?*=25. T
am ; x2-2.6x+6+y*=25 ..
5 C a8 95 (2,3) 9 IoRaT 7 |
SRIS Ty HAxe2170 . T% right-handed TRaeT & |
o ey 12xt=0 3T GHPT TP y*~dax & T BT B1TT |
2 T g BT TR § x+y>-8r-+12y+15-0 U8 (2,3) W TORAT B |
SHBT D5 =(4,-6) A e a9
.3=4a.2 9=8a..a=%.
a1 anfise g BT s =(4,-6) ! oA
arfiee ga g (5,4) 9 ToRell 7 | .'.WWUT%y2=4X%x
o=/ (@ =5+ (—6-4)" or, v = 5.
= /14100 =101 5
;. M ga BT FHIBRIT & 7. Wﬁ?fﬁﬁgﬂzﬁrwﬂwi‘—+ﬁ—1
(x_4)2+(y+6)2:( 101 )2. ------- (1)
or,  x-8x+16+y*+12y+36=101 g g (4,3) T (-1,4) & Tor=el §
2 2_ _ —|
or,  xHy-8xt12y-4920. S0 = i wen —+L—62—1 ..... (iif)
& g @ 3xty-14=0 ... @) (if) T2 G Eﬁ oo R TEH T B %
AT 2x+5y-18=0 ... (if) ot éz - 247
(i) AT (ii) BT A PRA W, 15y
.y 31 JMTSe FHIHROT © WJrW 1.
—18+70 —28+54 15—2
or LZL:L:}xziy:& 8. AT =(£4,0).
> 52 26 13 13> 13 W%W%I
x=4, y=2
. (i) (i) BT P g (4,2) B o4, =3
. 1 4 _1
gq 375 (4,2) A ToiRaT & o &= (1,2) B | e TF a3 oasl2
sBer =/@- 1)+ 2 -2 =3 3arE 3q ?=a’-c? = 12247 =144-16 = 128.
[ G BT P BT & HWWW%IM 1};;:1.
(e-1)*+(y-2)>=3"
L A=
or, x*+y?-2x-4y-4=0. ? (£3,0)
g afast sfauRaey 2|
wRaerd BT I 8 0(0,0). TAT TT y-3eT B FAMAT 2 | 3
. DT FHIGRT ¥=4ay ITx*=-4ay & BT BT 2 | ot 3 eT7
- TRaERT g (2,3) R ToRAT 2| e=3 33 .=
. I8 U downward WRaed T | . b2=c2-a2=32-22=9_4=5.
. BT FHIBROT >=-4ay & BT BT BT | ER
% g (2,-3) § TORAT & 3(cl: SITIRACTA BT FHIDRV & - — 5 = 1.
4 1 10. . AT = (0,£12).
.2%=-4a(-3) = 4=12a - a=15 =7
. U8 3 IIfAURTAT B |
WHEMT-11 (TOTA) —=




2b°

A c=12 1 = —=36=

a
3d a’=c’-b’=122-18a=144-18a.

= a’+8a-144=0 = (at24)(a-6)=0

- a=6 (. aZRUTHS ST&l BIM).

L a’=36 dAT  b>=18a=18x6=108.

2

_ y X _
37 e AHIANT 2 36 108

Long Answer Type Questions
(el ST geA)

o T ga @1 e =3.
AT {6 g BT s (,p).
. (,B) X@T y=x-1 R Rerd 7 |

R D (i)
319 g BT AHIHRT BT

(-a)*+(y-py=32. .. ii

g4 (ii) fag (7,3) 9 TorRaT & |

C(T-0PHBBP=9 .
FHIERT (i) F B BT A FHIGIT (iii) § @ R

(7-00P+(3-0+1)°=9.

or, (7-0)*+(4-0)>=9
or, 49+02-140+16+02-80=9.
or, 202-220+56=0
or, o?-110+28=0
= (a-4)(a-7)=0 = 0=4,7.
S (1) | p=3 A6
S gd B Bw B (4,3) 1(7,6).

31T: (i) ¥ 3P g Bl
(x-4)*+(y-3)=3"

g7 (x-7)+(y-6)*=32
ie. x*+y?-8x-6y+16=0
a1 x*+y*-14x-12y+76=0.

AT T A=(2,3) @1 B=(-1,1).
& T T BT FHIBROT B x-3y=11

2 L1

AT 5 AB &1 #e91 fa=g L 2 |

. L &I e —(%ﬂ) (2,2)

He&T-11 (oI

: 3-1_2
..ABEﬁm—m ER
A f5 99 BT dEH T |

S HLLAB. ..HL®I alel= _73

HL &7 9Hehror &

-3
y-2= "5 (x~— )
_ 3
or, 2y—4——3x+j

or,  3x+2y—4-3=0

o, 6x+4y-11=0

o, ox+4y=11. ... (i1)
S e H, (1) 927 (i) R Rerd g |
. T8 (i) TAT (i) BT PHe a5 2 |
(1) TAT (1i) BT B B R,

ZSﬁ?y 5
WH:(?T
BremiAa= /L -2+ -3)

gd BT T AT § —

7 5 65
=)ty +)’ =G5
2x—7 2y 5
or, (T3 ) H( ) =5
or,
4’ —28x+49 4y *+20y+25 65
4 4 2
or, 4x2-28x+49+4y+20y+25=130
or, 4x*+4y2-28x+20y-56=0

or, x> +y2-Tx+5y-14=0.

AT &5 apfie ga &1 FHiaRe 8§ —
Xy 2gx2fy+e=0 ... 1)
" g4 (i) (5,7),(6,6) Ta (2,-2) ¥ TORAT & |
. 10g+14f+74+c=0 ......... (i1)
12g+12f+72+c—0 .......... (iii)

qAgT 4g-4f+8+¢=0 ........ (iv)

34 (iii)-(ii) &, g-f-1=0  ....... v)

qAT (iv)-(iii) 3, g+2f+8=0.......(vi)

(v) TAT (vi) BT A B W, g=-2, f=-3.




- (i) 9,
-20-42+74+¢=0

=  otl2=0=>  c=12

", g BT FHIERT 8-
Xy dx -6y 1220
AP D75 = (2,3).

o= V4 49+ 12 = /25 =5 5oTE,
I y-31eT TR ® AT B oG W ¥ |

S AT & Hgd a1 wHe )bf_er%:l%l
..... (i)
g 95 (6,4) 9 o B |
36 , 16 _ ii
(i)

?—{—?—1 .......

379, b*=a-c>=a’- (% a)’

2_97a2:77a2
16 16
3 36 1
(11)@" 7_3'2 +?:1
16
0,16y ST6+ 112

= 16x*+7y*=688.

He&T-11 (oI { J
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